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q} The distance a spring will stretch varies directly as the force to the
spring. A force of 12 pounds is needed to stretch a spring 9 inches.
What force is required to stretch the spring 15 inches?
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/é} The time it takes to fly from Chicago o New York varies inversely
as the speed of the plane. If it takes 3 hours at 600 miles per hour,
how long would it take at 400 miles per hour?
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‘/2_) The time it takes to fly from Chicago to New York varies inversely
as the speed of the plane. If it takes 3 hours at 600 miles per hour,
how long would it take at 400 miles per hour?
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